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41. Kala and Vani are friends. Kala says, “Today is my birthday” and she asks Vani, “When will you
celebrate your birthday?” Vani replies, “Today is Monday and I celebrated my birthday 75 days
ago”. Find the day when Vani celebrated her birthday.
a. Wednesday
b. Tuesday
c. Monday
d. Sunday
42. Find the 15th term of an A.P. given by 3, 15, 27, 39,...
a. 279
b. 143
c. 171
d. 512
43. Determine the general term of an A.P. whose 7th term is —1 and 16th term is 17.
a. 2n+15
b. 2n-25
c. n+15
d. 2n-15
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44. A mother divides 3207 into three parts such that the amount is in A.P. and gives it to her three

children. The product of the two least amounts that the children had ¥4623. Find the amount

received by each child.

a.
b.
C.
d.

67,345 and X71.
267,369 and X71.
342,369 and X71.
%67, %69 and 86.

. Which term of an A.P. 16, 11, 6, 1,... is-54 ?

a.
b.
C.
d.

14
15
16
17

.13 +k, 18 -k, 5k +1 are in A.P. then find k.

a.
b.
o
d.

1
2
3

4

. How many terms of the series 1+ 5 + 9 +... must be taken so that their sum is 190?

a.
b.
¢!
d.

10
20
30
40

. The 13th term of an A.P. is 3 and the sum of first 13 terms is 234. Find the common difference

and the sum of first 21 terms.

a.

b
C.
d

148
158
168
178

. The houses of a street are numbered from 1 to 49. Senthil’s house is numbered such that the sum

of numbers of the houses prior to Senthil’s house is equal to the sum of numbers of the houses

following Senthil’s house. Find Senthil’s house number?

a.
b.

C.

21
28
35
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d. 42
50. Find the sum of all odd positive integers less than 450.
a. 79625
b. 50625
c. 48625
d. 12625
51. A man repays a loan of 265,000 by paying %400 in the first month and then increasing the
payment by X300 every month. How long will it take for him to clear the loan?
a. 20 months
b. 24 months
c. 18 months
d. 48 months
52. Find the 8th term of the G.P. 9, 3, 1,...
a. 1/243
b. 1/512
c. 1/456
d. 1/23
53. The present value of a machine is ¥40,000 and its value depreciates each year by 10%. Find the
estimated value of the machine in the 6th year.
a. ¥23619.60
b. X13678.80
c. %25673.70
d. %23615.40
54. A man joined a company as Assistant Manager. The company gave him a starting salary of
%60,000 and agreed to increase his salary 5% annually. What will be his salary after 5 years?
a. 366578
b. 76577
c. 86549
d. 296543
55. Find the 10th term of a G.P. whose 8th term is 768 and the common ratio is 2.
1254
1365
2560
. 3072
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. Find the sum of first six terms of the G.P. 5, 15, 45, ...
1450
1650
1820
1940
. Kumar writes a letter to four of his friends. He asks each one of them to copy the letter and mail
to four different persons with the instruction that they continue the process similarly. Assuming
that the process is unaltered and it costs 32 to mail one letter, find the amount spent on postage
when 8th set of letters is mailed.
a.3 74750
b.X 174760
€.% 214770
d.% 245480
. Rekha has 15 square colour papers of sizes 10 cm, 11 cm, 12 cm,..., 24 cm. How much area can
be decorated with these colour papers?
& 1905 cm?
b. 2445cm?
c. 3535cm?
d. 4615cm?
. The least number that is divisible by all the numbers from 1 to 10 (both inclusive) is
a. 2025
b. 5220
c. 5025
d. 2520
. The first term of an arithmetic progression is unity and the common difference is 4. Which of the
following will be a term of this A.P.
a. 4551
b. 10091
c. 7881
13531
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